(1% R L

5%

2wl A B S )
M 3+0L]+4=11 @ [J+7%x2=16 ® [1+48+8=14 @ [JXT7—5=51

® X5+2=17 @ 15—12+-=11 @ O—=35+7=17 ® 72+-8—-[1=2

O O+6+5=7 0 6+ [JX3=24 an42—-6X[=12 2 4X8+[]1=38

(139 18+05X =43 » b6-[+12=14 9 8+24=-[1=12 0o [J—-2X3=5

D 18—[1+9=16 8 31 —-[X8=16 9 []+7—-50=1 @ 7X []1+9=51

QN 637+ [1=24 ©3X[]—6=6 @) 14+-[1—-2=0 ©H2Xx2—11=13



[z Rd L (BRE)

5%
nE Z A = SO )
M 3+0L]+4=11 @ [J+7%x2=16 ® [1+48+8=14 @ [JXT7—5=5H1
[1]+4=11-3=8 L1+14=16 (1+6=14 [IX7=b61+5=56
[1=8X%X4 [1=16—14 [(1=14-6 (1=56+7
[1=232 [1=2 [1=8 [1=8
® X5+2=17 © 15—12+-=11 @ O—-35+7=17 ® 72+-8—-[1=2
[1X5=17—2=15 12+-00=15—-11=4 [1—5=17 o—-[=2
[(J=15+5 (1=12+4 [1=17+5 =902
[]=3 []=3 [(1=22 [1=7
@ []+-6+5=7 10 6+ [IX3=24 D 42—-6X[]1=12 (2 4X8+[]=38
[1+6=7—-5=2 [1X3=24—-6=18 O6X[1=42—-12=30 32+11=38
[1=2X%X6 [1=18+3 [1=30+6 [1=38—-32
[(1=12 [1=6 [1=5 [1=6
(19 18+5X[]=43 o 6+-[+12=14 5 8+24+[1=12 o []—2X3=5
AX[1=43—-18=25 6+-1=14—-12=2 24=-11=12—-8=4 [(1-6=5
[1=25+5 (1=6+2 [(1=24+4 [(1=5+6
[1=5 [1=3 [1=6 [1=11
D 18—=[1+9=16 & 31 —=[1xXx8=15 9 []+7—5=1 Q0 7TX [1+9=51
[1+9=18—16=2 [1X8=31—15=16 (J+7=1+5=6 TX[=51—-9=42
[1=2X%X9 0=16+8 d=6X%X7 [(1=42+7
[1=18 [1=2 []1=42 [1=6
e 637+ =24 @ 3X[]—-6=6 CH14-[1—-2=0 ©@»2%x2—011=3
O+ [1=24 3IX[A=6+6=12 14=-=0+2=2 4—[1=3
[(1=24—-9 [1=12+3 0=14+2 [1=4-3

O=15 =4 0=7 =1



